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5|3%EfC ReFMTEEEHE 2.300] A 38,400 88,320/ 38,400 88,320 0.000 0
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5|8EfC ReFEMTEEEHEE 1.200 - A 38,400 46,080| 38,400 46,080 0.000 0
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3|ERERA ReFEMTEEEHE 0.500, A 57,000 28,500/ 57,000 28,500 0.000 0
4| BB ReFEfiTEEAEHES 0.400, A 47,200 18,880/ 47,200 18,880 0.000 0
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3| EATA ReFEfiTEEXEHER 0.700] A 57,000 39,900/ 57,000 39,900 0.000 0
4|HERB ReFEMTEEZEHE 1300, A 47,200 61,360/ 47,200 61,360 0.000 0
5|HEfiC ReFEfiTHEEZEHE 1.5000 A 38,400 57,600| 38,400 57,600 0.000 0
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* 16 A= H A ReFEMEEERHE 0.090] A 47,100 4239 47,100 4,239 0.090 4,239
* 17| Bl =HEnE ReFEfiTEEAERHE 0.090| A 36,900 3,321 36,900 3,321 0.090 3,321
* 18| BIZBF ReFEfiTEEZEHEE 0.000] A 34,600| 0| 34,600 0 0.000 0
* 19 BI=®@BE ReFEIMTEREHE 0.180] A 25,900 4662 25,900 4,662 0.180 4,662
501 | #HEVAEETE] (ResEcxdsas 5.000{ % 12,222 611 0 0 0.000 0
502 B EREEFE] HesE T 38 1.500] % 12,222 183 0 0 0.000 0
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* 17 B E A ReFATEEEHE 0.390] A 36,900 14,391 36,900 14,391 0.250 9,225
* 18| EI=BF ReFEIMTEEERT 0.500{ A 34,600 17,300{ 34,600 17,300 0.500 17,300
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* 18| BI=BF ReFATEEEHE 0.690{ A 34,600 23,874| 34,600 23,874 0.470| 16,262
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B 55,263 51,890]. 1.170] 36,922
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* 18[B=BF ReFEfiTEEEHEE 0.460/ A 34,600 15916 34,600 15,916 0.250 8,650
* 19| BIEMmBE ReFEMTEREEHE 0.750| A 25,900 19,425 25,900 19,425 0.750 19,425
501 [ PR B UMEEK] (ResEcdd38s 5.000{ % 66,445| 3,322 0 0 0.000 0
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* 16| Bl =6 ReFZMTEEEHEE 0.120[ A 47,100 5,652 47,100 5,652 0.000 0
* 17 B EFEE ReFFITEELEHEE 0.240| A 36,900 8,856] 36,900 8,856 0.000 0
* 18 BIZBNF ReFEfiTHEEHEE 0.000] A 34,600 0| 34,600 0 0.000 0
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5|B:EfiC ROFZEIMTEELEHEE| 0.080] A 38,400 3,072| 38,400 3,072 0.080 3,072
6\ HTIE ReFATEEZLEHER 0.110] A 33,600 3,696| 33,600 3,696 0.110 3,696
5 21,076 21,076 0.450| 21,076
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EEAGE 21,076
ZDMEE 0
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2| E{EHER RefEfiTEEXEHE 0.100] A | 64,800 6,480/ 64,800 6,480 0.000 0
3| BETA ReFEMIEREERE 0.220] A 57,000 12,540| 57,000 12,540 0.000 0
4|FERB ReFfiTEELEHEE 0.370| A 47,200 17,464 47,200 17,464 0.000 0
5|BEfC ReFZMTHEEAEHEE 0.340 A 38,400 13,056/ 38,400 13,056 0.000 0
6| fiTE REFZMTEREHE 0.340| A 33,600 11,424 33,600 11,424 0.000 0
2|KT ReFEMTEEEHEE 0.300] A 34,600 10,380 0 0 0.000 0
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4| EERB ReFEMTEEEREE 0.220] A 47,200 10,384] 47,200] © 10,384 0.000 0
5|$%ERC ReFEMTEEEHEE 0.490] A 38,400 18,816/ 38,400 18,816 0.000 0
6|l E ReFFfiTEELEHLE 0.340] A 33,600| 11,424 33,600 11,424 - 0.000 0
2|KT ReFEMTEEEHEE 0.450] A 34,600 15,570 ) 0 0.000 0
g 63,604 48,034 0.000 0
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6| AT E ReFZATEEEHEE 0.270 A 33,600 9,072| 33,600 9,072 0.000 0
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3| ERETA |ReEMTEELEHEE 0.120] A 57,000 6,840 57,000 6,840 0.000 0
4| ERB ReFfiTEELEHLE 0.210] A 47,200 9,912 47,200 9,912 0.000 0
5|HERC ReFfTEEZEHEE 0.330] A 38,400 12,672] 38,400 12,672 0.000 0
6| FAiTE ReFEMTEEZEHEE 0.330] A 33,600 11,088 33,600 11,088 0.000 0
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4|EERB R6FEMTEEEREE 0.170] A 47,200 8,024| 47,200 8,024 0.000 0
5|8AfiC ReFZMTEREERE 0.260] A 38,400 9,984\ 38,400 9,984 0.000 0
6| BB ReFAMTEELERLE 0.260] A 33,600 8,736] 33,600 8,736 0.000 0
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2| FERER ReFEIMTEEEREE 0.120] A 64,800 7,776] 64,800 7,776 0.000 0
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5|ERC ReFEfiTEEEHLE 0.510] A 38,400 19,584| 38,400 19,584 0.000 0
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* 17| B E AR ReFEfiT B EZEHL 0.120] A 36,900 4,428| 36,900 4,428 0.000 -0
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5 ‘ 68,527 ~ 66,210 2.100] 66,210
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* 17 Bl EFEhE ReFEMTEEEHEE 0.120] A 36,900 4,428| 36,900 4,428 0.000 0
* 18Al=BIF ReFZTEEEHEE 0.120] A 34,600 4152 34,600 4,152 0.000 0
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5 14,730 14,232 0.000 0
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